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1. In a quadrilateral ABCD, AB = 133 cm, BC = 187 cm, CD = 84 cm, DA = 156 cm and BD = 205 cm. find the area of 

the quadrilateral. 

a) 16344 cm2  b) 18228 cm2  c) 21496 cm2  d) 24576 cm2 
 

2. Two parallel sides of a trapezium are 60 cm and 77 cm and other sides are 25 cm and 26 cm. find the area of the 

trapezium. 

a) 1644 cm2  b) 1464 cm2  c) 1504 cm2  d) 1600  cm2 
 

3. What is the ratio of the measure of an angle of a regular octagon to the measure of its exterior angle? 

a) 3 : 1  b) 4 : 1   c) 1 : 2   d) 2 : 3 
 

4. The number of zeros in the product of the first 100 natural numbers is : 

a) 12   b) 15   c) 18   d) 24 
 

5. A four digit number has the following properties. 

i. It is a perfect square  

ii. Its first two digits are equal to each other. 

iii. Its last two digits are equal to each other. 

Then the four digit number is … 

a) 5566  b) 7744   c) 2288   d) 3399 
 

6. A man can row half a km against the stream in 7ଵ
ଶ
 minutes, and then return in 5 minutes. The speed of the man 

in still water is : 

a) 2 km/h  b) 3 km/h  c) 4 km/h  d) 5 km/h 
 

7. A circular field has a circumference of 360 km. three cyclists start together and can cycle 60km, 72km and 90km 

a day around the field. After how many days will they meet again at the starting point? 

a) 40 days  b) 72 days   c) 15 days  d) 60 days 
 

8. These shapes form a pattern. How many squares will be shaded in the 10th shape in this pattern? 

                      
                      
                      
                      
                      
                      
                      
                      

        4 shaded        20 shaded                 44 shaded 

a) 212   b) 356   c) 395   d) 436 
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9. The ratio of an interior angle of a regular pentagon to an exterior angle of a regular decagon is : 

a) 4:1   b) 3 : 1   c) 2 : 1   d) 7 : 3 

 

10. If the roots of the quadratic equation x2 + px + q = 0 are tan 300 and tan 150, respectively. What is the value of    

2 + p – p? 

a) 0   b) 3   c) 4   d) 2 

 

11. What is the common factor of (157 + 137) and (155 + 135) 

a) 155 + 135  b) 2   c) 152 + 132  d)  28 

 

12. If m and n are two co-prime positive integers. Then LCM of m and n is : 

a) 1   b) n   c) mn   d) m 

 

13. A solid sphere is cut into identical pieces by two mutually perpendicular planes passing through its centre. The 

increase in its total surface area with respect to the total surface area of the original sphere is : 

a) 50%  b) 100%  c) 150%   d) 200% 

 

14. If the sum of the ages of a father and his son is 65 and twice the difference of their ages is 50, what is the age of 

the father? 

a) 45 years   b) 40 years   c) 50 years   d) 55 years  

 

15. If f(x) = 16x2 + 51 x + 37, which of the following is one of the factors of f(x)? 

a) X – 1  b ) x + 1   c) x + 2   d) x – 2 

 

 

 

 

Answer key 

1 - b 2 - a 3 - a 4 - d 5 - b 6 - d 7 - d 8 - d 9 - c 10 - b 11 - d 12 - c 13 - a 14 - b 15 - b 

 


